Paper-Maker Paper Maker 10
Directions (1-5): fi#=ITalf@d STeTehRIehT &ATeIqde 3readel Hifaw 3R & fqu are

el & 3] GIfSIT:

T 9RaR & d difear &, 36 @eEw § 3UED, E F, G H, 1, ] 3R Koaewr =x
fe auiedsrd 1988, 1973, 1986, 1980, 1989, 1990, 2009, 3R 1984 & THT HElA &
FALET A @Y g3 §, olfched ST el JET &Y 3T el ¢

A 3ThT 3H 3o SloH dhl diig & & F 2017 & A AL 3 gAT AT i
AT SR

JE @ TR a¥ oler gl 9RaR & @IS aéyaeh gl 81 G 3N F & g & o &
IR TH QO a9 §1 G gevaEr § 3R 9RaR #1787 @eeg gl | & 31y vd qo
gig AR J #T G HT UHTS QU7 €T gl E 3 30 a¥ & HA AL g1 D H
3 U qOT e § oAfehet 30 & A BIF, K & U a¥ &37 |

QL. #leT 29N T MY T §7?
(@)1
(b) D

(c)F
(d) H

(e)]
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Q2. AAToIf@a & & Tohaer S=a 1984 H g3m

(a) K
(b) I
(c)G
(d)H

(e)]
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Q3.H,1 & [T YR T g7
(a) H,| & 6aY BIer g
(b)H,| & 79Y &7 |
()H,| ¥ 535 3T g
(d)H,| & 29Y e gl



(e)H,| & 43Y BIer g

L1Difficulty 2
QTags Puzzle

Q4. =TT & & &7 IcT g2
(a) [T STedT 1984 H g3 Tl
(b)K29aY¥ & gl
(c) DT S 1994 H g3 Tl
(d) E,37a &1 31g & gl
(e) 3R & HIg =Fal
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Q5.F3RH & a¥ & &I Fdal Ae&dT FT oA g3 Um
(a)ar
(b) T
(c) et
(d) IS &
(e) 3181 & HIS Tgr
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Solutions (1-5):

Members | Years
G 1973
F 1989
K 1990
D 2009
I 1986
J 1984
E 1980
H 1988

Sol.

S1. Ans.(d)

S2. Ans.(e)

S3. Ans.(d)

S4. Ans.(d)

S5. Ans.(d)



Directions (6-10): [AFATAET ST & LAETqds qfer AR & T 1w geat &
3T ST

T fAfRRTd Fe s A,

“Domain Internet Opposition” T “H3 J5 F3"fer@r Srdr &
“India Magazine Kashmir” &I “H4 E3 G2"for@r irar g
“Sunday Cuts Marketing” &T “F2 13 D1” for@r Sirar &

Q6. fArAfafd & & @l AT ‘Force’ & &He §?

(a) E4

(b) G3

(c) F6

(d) E2

(e) None of these
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Q7. FFITT @ # & &leT AT ‘Force’ & Fe g?fie=ilai@d # § HleI-AT Hc 9T H
‘Foreign Land’ ¥ golTar g2

(a) D1 G3

(b) E4 H6

(c)A2C3

(d) D2 E2

(e) None of these
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Q8. feAfaf@d & & HleT AT F Reelected’ I TERTT HAT &7

(a) F3

(b) 14

(c)H2

(d) G6

(e) None of these
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Q9. F==Ifaf@a & & Fia ar ‘2’ = weita Far &7



(a) Warn

(b) And

(c) Oil

(d) Only

(e) None of these
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Q10. fTF=afaf@a & & 9 ar aUsg ‘D2’ A YT adT g7

(a) Hope

(b) After

(c) Only

(d) Dies

(e) Both (a) and (d)
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Solution (6-10):

Logic-

* The number of alphabets in the given word is coded as the alphabet which has the same
rank in the alphabetical series as the number of alphabets in the word. (For example:
Stones--no of words =6 so code-F)

* The number in the code represents the number of vowel present in the word.

S6. Ans.(d)

S7. Ans.(a)

S8. Ans.(b)

S9. Ans.(c)

S10. Ans.(e)

Direction (11- 12): 38 92T H, [affieed dcal & AT Il & HUAT & 2T 137 &l
FUT & ¢ [ashy U v §| Ry a1v wuat W 3meRa Asest &1 3regged difow
AR 3UPFd IR HT 9T ffAT|

QIL&YT: M>A>B=Q<P<J<Y;Z>A>X
forsey : IB<Y I.X>]

a)dhad [T hy 1acT gl

b)T ar sy I llacT B

c)dhad sy 11T gl
)

(
(
(
(d) sy 131K sy 1@ I &



(e)ar ar sy (372aT SRy |1aeT §l
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Q12. YA : M>A>B=Q<P<J<Y;Z>2A>X
frsny ; .zZ=qQ Il.z>0Q

(e) Either conclusion I or II is true.
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Solutions (11-12):
S11.Ans.(a)
Sol. 1.B=Q<P<J<Y(TRUE) I1.X<A=B=Q<P<]J(FALSE)

S12. Ans.(e)
Sol. .Z=A>B=Q(FALSE) I1.Z=A>B=Q(FALSE)

Directions (13-14): sl CU T Jcdsh Ieed & $© FYT U 0 ¢ &Feveh T Fo
ey few arw § 39er RU 1T FUAT I T AAAT § A & F gaad azar 4
foest oehia gl &l @el forsehnl a1 egrerqdeh ufew 3R el ey &r &l @
forsey T arw st &1 Heavor F 2.

Q13. HYU:
shadl T Aqd A g.
gafr 3mH oy §



sy
1.F o 49 &

IL$S 3R A &

(a) hael 1 3TEOT T &

(b) @& I 3R 11 37RO X &

(c) hael 11 3TTEROT T §

(d) IS 3FTEROT & el
()T & I AT II HTEIOT AT §
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Q14. HU:

HIS BT e 7T E.

e FG AHG Al §

I ICES

fasa:

L@l athe & Arem g Hr FermaaT &,
ILFS sl & The glel HT HHT &.

(a) hael 1 JTEOT HIAT &

(b) @&l I 3R 11 3RO X 8

(c) ael 11 3TTEROT HIT §
(d) I & 13T 11 3{eTETOT T &

(e) IS HTEIUT Gl &l
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Solution (13-14):

S13. Ans.(a)
Sol.

.

Litchi

S14. Ans.(c)
Sol.

g

Directions (15): #Agcaqot 9ot & vy & fAvky & & g7 3ifaa & 5 srsredt
gaa AR FHANT T ST Yo ¥ FeEeUd §, 3% ey Avky aa & ware @
FAGR T T F o6 T6e3 & WHAd TeIsT ¥ § Foafeud 7@ @ @ §
AT QU 1T 4 AF 9o & a1 & aF 13 1R v §| 3mys Avkr a=r § Fia
AT a% ‘gaer § AR FiT A1 FASR| A= W ST

A& ucds U & T gy aF 1 3R 11 G arv & 3muer eiRa war § & Sl ar
% Tk Holgd o & 3R Hled A1 Tk HAGR d& g 3R Ao

(a) 3 Faer I& | A9 &
(b) AT Fae d& 11 AT &
(@afg ar ar 1 a1 11 A9d &
()T & ar 1 8 1l #Asled &; 3N
(e) TS a1 3R 11 A &.

Q15.FUeT:FIT AT AT (EC) T Telifdier Gell &l ATt 1 33 Bradr fewme gar
fAaT T g arfew



a&:

1. 8T, TE e TsTeilicien &1 & Afgensit & gfafaiftiea &1 gg71 gfderd gAkad s
ILAET, I§ s gifcal & 3 diel & fow AR &t fve ol == & v
HIGY M ST6T Sicdel &l HIHGT A .
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S15. Ans.(a)

Sol. I is a strong argument because it is true that the outcome of the move will result as
explained in the argument I. but Il is weak because the abuse of a situation is inherent in
any move.



